



INDIA NON JUDICIAL Government of Bihar

e-Stamp

Certificate

IN-BR-2500251844

Certifica ssue Date 31-Jan-2025 11:56 AM

GRN No

BHR20250101179243E

Unique | oe Reference

EST-BR-1903-2500001730

Party N me

RETNESH KUMAR SINGH

Purchase by

RETNESH KUMAR SINGH

Purpose

: NA Article no (NA)

Stamp Du Paid (Rs.)

1000 (One Thousand Only)

Reg. Fee (

0 (Zero Only)

LLR & P cc (Rs.) 0 (Zero Only)

Miscellan ous Fee (Rs.)

0 (Zero Only)

Discore S (Rs.)

0 (Zero Only)

Total An Int (Rs.)

1000 (One Thousand Only Revised Agreement

worksteet -08/03/2003 Policy 2018 work conpairon-30/01/25

Bihar Rural Road maintenance Policy 2018

Agreement - 48 M 39/2024-2025

This agreement made on the ______day of ______between Executive Engineer, Rural Works Division, Works Division, Dalsinghsarai, Samastipur and RATNESH KUMAR SINGH, At-Khoksha Kalyan, Ps-Deshri, District-Vaishali (Reg No-1210361), whereas the Employer is desirous that the contractor execute the Work construction of improvement of Road from MUSTAFAPUR SAKRA TO BAYA BARETHA MISROLIYA HIGH SCHOOL (Name and identification number of Contract) (hereinafter Called "the works") and the employer has accepted the bid by the contractor for the execution and completion of such works and the remedying of any therein, at a Cosntruction amount Rs. 2,75,66,480.00, Maintenance amount Rs.

ning thousand two hundred ten rupess Only) (0.81% Below the Scheduled Rate.) ulbenticity of this Stamp certificate should be verified at https://enibandhan.bihar.gov.in or using enibandhan

30.00 and the total amount Rs. 34189210.00 (Three Crore forty one lakh eighty

Iscrepancy in the details on this Certificate and as available on the website/Mobile App renders it invalid 1. The mus of checking the legitimecy is on the users of the certificate.

se of any discrepancy please inform the Competent Authority. 2. T

Issue of Notice to Proceed with the work Executive Engineer

R.W.D. Works Div-Dalsinghsarai (Samastipur)

To,

RATNESH KUMAR SINGH

At- Khoksha Kalyan, Ps- Deshri, District-Vaishali.

Dear Sir,

Pursuant to your furnishing the requisitie security as stiplate in ITB Clause 34.1 and signing of the contract dor, the Contruction of Improvement of MUSTAFAPUR SAKRATO BAYA BARETHA MISROLIYA HIGH SCHOOL (Name and identification number of Contract) (hereinafter Called "the works") and the employer has accepted the bid by the contractor for the execution and completion of such works and the remedying of any defects therein, at a Cosntruction amount Rs. 2,75,66,480.00, Maintenance amount Rs. 66,22,730.00 and the total amount Rs. 34189210.00 (Three Crore forty one lakh eighty nine thousand two hundred ten rupess Only) (0.81% Below the Scheduled Rate.)

Enclosers:-

Your's Faithfully,

1. Instruction

2 - ATT BAURE

Executive Engineer कार्यपालक आभयता cs Division, Dalsinghsara

मंहसराय

कार्यपालक अभियंता का कार्यालय ग्रामीण कार्य विभाग,कार्य प्रमंडल, दलसिंहसराय, समस्तीपुर

Email ID:- rwddalsinghsaray@gmail.com

पत्रांकवनांक27/1/25

कार्यपालक अभियंता,

ग्रामीण कार्य विभाग,

कार्य प्रमडल, दलसिंहसराय

.अधीक्षण अभियंता,

ं , जिल्हें के यामीण कार्य विभाग,

कार्य अचंल- समस्तीपुरं

विषय--

बिहार अनुरक्षण निति— 2018 योजनान्तर्गत 1 पथ का पुनरीक्षित परिमाण विपत्र (BOQ)

स्वीकृति के संबंध में।

महाशय,

उपर्युक्त विषय के संबंध में कहना है कि बिहार अनुरक्षण निति— 2018 योजनान्तर्गत पूर्व से प्रदत्त प्रशासनिक स्वीकृति के विरूद्व पुरीक्षित तकनीकी स्वीकृति 1 पथ का परिमाण विपत्र (BOQ) तैयार कर स्वीकृति हेतु समर्पित की जाती है।

S.N	Name of Road	Block	Length	Total BOQ Cost.
1	2	3	4	5
1	Mustafapur Sakra to Baya Baretha Misroliya High School	Bibhutipur	6,115	10.840

अनु०— यथोक्त।

विश्वासभाजन

कार्यपालक अभियंता ग्रामीण कार्य विभाग कार्य प्रमण्डल,दलसिंहसराय B.O.O. Approved as 10,840,24=00 (Reflect
ten lække eight fom Thousand memby
foun) and from 21em noi (B+06)

अधीरिक हिंदि है। ग्रामीण कार्य विश्वान कार्य अंचल, समस्तीपुर 2

	MR-3054				
	BILL OF QUANTITIE	ES (BOC	2)		
Name of	MUSTAFAPUR SAKRA TO BAYA BARETHA MISR	OLIYA H	IGH SCHO	OL	
lock	Bibhutipur	District:	Sam	astipur	
ength:	6.115 km				
OL No.	B 1 d				Amount (Da)
SI. No.	Description of Items	Unit	Qty.	Rate (Rs.)	Amount (Rs.)
	SCHEDULE A Granular Sub-base with Well Graded Material(Grade			-	
1	21: Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density,	Cum	33.141	2,715.39	89989.48
2	Water Bound Macadam with Stone Screening Gr-II: Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with three wheel 80-100 kN static roller in stages to proper grade and camber, applying and brooming, crushable screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 2 as per Technical Specification Clause 405.	Cum	24.249	5,515.46	133744.39
3	Water Bound Macadam Gr III: Providing, laying, spreading and compacting stone aggregates of specific sizes to water bound macadam specification including spreading in uniform thickness, hand packing, rolling with smooth wheel roller 80-100 kN in stages to proper grade and camber, applying and brooming, stone screening to fill-up the interstices of coarse aggregate, watering and compacting to the required density Grading 3 as per Technical Specification Clause 405.	Cum	63.874	5,398.98	344853.10
4	Providing and applying primer coat with Bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70- 1.0 kg/sqm using mechanical means as per Technical Specification Clause 502.	Sqm	851.65	60.11	51192.68
5	as per Technical Specification Clause 502. Providing, laying and rolling of close-graded premix surfacing material of 20 mm thickness composed of 13.2 mm to 0.09 mm (Type-B) aggregates using penetration grade bitumen to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 8-10 kN static roller and finishing to required level and grades as per Technical Specification Clause 509	Sqm	851.65	306.39	260937.04
6	Providing and applying tack coat with bitumen emulsion using emulsion pressure distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surface tretaed with Primer and clened with hydriloc broom as per technical specification aclouse 503.	Sqm	851.65	20.67	17603.61
IF	Total				898320.30
	18 % GST				161697.65
	the second secon				000000
	1% LABOUR CESS				8983.20
	1% LABOUR CESS Seigniorage Fee Total Construction Cost			A	15025.76 1084026.92

24 FIBY PUE

कार्यस्वरलक्षेत्रक्षेत्रं कार्य विभाग वासीण कार्य विभाग इलसिहसराय

कार्यपालक अभियंता आमीण वार्य विभाग आमीण वार्य विभाग उग्रामीण वार्य विभाग